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GENERAL INSTRUCTIONS:

1. This question paper contains 34 questions. All questions are compulsory.

2. This question paper is divided into two parts, Part A and B.



5. Question Nos.1 to 16 and 27 to 30 carries 1 mark each.

6. Questions Nos. 17 to 20, 31and 32 carries 3 marks each.
7. Questions Nos. from 21,22 and 33 carries 4 marks each
8. Questions Nos. from 23 to 26 and 34 carries 6 marks each

9. There is no overall choice. However, an internal choice has been provided in 7
questions of one mark, 2 questions of three marks, 1 question of four marks and 2

questions of six marks.
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HTIT h
(ErSiERT BHAT 3R HUfdr & fow d@is)

PART A
(Accounting for Partnership Firms and Companies)

A, B 3T C |rsigR & ST ofmet 3N g1fel &l 3: 2: 1 & 3requrel & &1 i &1 afe B &
HY Bl ST &, AT A 3R C T o187 37T §19T: -

12
1

(a).
(b).
(c).
(d).

N W N W

1
.3 (1)

A, B and C are partners sharing profits and losses in the ratio of 3 : 2 : 1. If B died,
the gaining ratio of A and C will be:-

(@)
(b).
(c).
(d).

3TAFUT (A): et TR+ e aram for IsierY v & ar iR el @a &
ifFefaa har Srarg|
HROT (R): fordT @SR I fear 3 R arsieRY wa & folT o I 98T 2|

N W N W
W =2 =2 N

FPreAfafld # & 78 3R

(@). A3MRRaEATTEE, IR R, A Fr agr carear gl

(b). A3 R TEE, afhT R, A Fr T samear AT §

(c). ATEE AfFT R ITAT L

(d). Adg afrT R @ e (1)

Assertion (A): Rent paid to a partner is recorded in the Profit and Loss Account

of a partnership firm.

Reason (R): Rent paid to a partner is a Charge against profit for a partnership
Firm.

Select the correct answer from the following :

(a). Both A and R are correct, and R is the correct explanation of A.

(b). Both A and R are correct, but R is not the correct explanation of A.

(c). Als correct but R is incorrect.

(d). Aisincorrect but R is correct.



Wmc‘r‘r€3§lﬁ3{2r@rqﬁqludla€raﬁdldm o sl W R 10 7o (X 8 A &
1003¢era—crav—{1%m|aﬁaaq?ﬁ¢raﬁa—cr3qu?r SR AT g1 F , HIAT STec fohT
3T 3ieff P O ST Y FET T 37T IFAHH BT & TR &

(a). T8UTINW

(b). ZT109fad =R
(c). 59 dI
(d). ZT3ufdaw

3dar

a7 fafAes o digadr d & T 8,00,000 &1 d FoT foram| Fu«r & g fow
FERIRTTAIAAT & &7 H % 100 Ui HeF & X 10,00,000 & 10% FOTIT SIRT T ST
ERIRCEIl W@Wﬁ?ﬁ?ﬂﬁ

(a). ¥ 1,00,000

(b). 80,000
(). =3I
(d). 3T Qg ot a7 (1)

A company forfeited 100 shares of 10 each ( X 8 called up ) for non - payment of
first call of ¥ 3 per share. If the company Re-issues all forfeited shares. Then, the
company may allow maximum discount per share at the time of reissue of the
forfeited shares:

(@a). X 8 pershare
(b). X 10 per share
(c). X5 pershare
(d). X 3 pershare
OR

P Ltd obtained a bank loan of % 8,00,000 from PNB bank. The company issued %
10,00,000, 10 % debentures of ¥ 100 each as Collateral Securities for the same.
Amount of Interest payable on these debentures will be : -

(a). %1,00,000

(b). 80,000

(c). Zero

(d). None of the above

X, Y 3R Z Uk %l 7 WIER § S A1 I 3:2:1 % 3Fe]0Tel H HIST A § | 3o611 sty
%mﬂﬁwwﬁﬁaﬁamwﬁwﬁm|mmﬂaﬂiaﬁrm(0r
Z1,00,000 ﬁwmm—amﬁ%o 000 FTAV AT| A TRATX, Y 3R ZzH i

3fe7aret & faaRe & s
(@ 3:2:1
(b). 1:1:1

(). 5:3:2



(d). SAN YRS off AET
317ar

AFATATET A | hleT AT oleTest AISIEGRT T TATS Goil Sl TRATIT T Hehell 87

(a). 3m8YOT

(b). Yol 9T AT

(c). 3ATEIOT W AT

(d). 3fARerd geit foraer (1)

X, Y and Z are partners in a firm sharing profits in the ratio of 3 : 2 : 1. They decided
to share future profits equally. There was a balance of ¥1,00,000 in their Profit and
Loss Account( Cr.) and 60,000 intheir General Reserve . These amounts will be
distributed between X, Y and Z in the ratio of :

(@). 3:2:1
(b). 1:1:1
(). 5:3:2
(d). None of the above
OR

Which one of the following transactions may change fixed capitals of partners?
(a). Drawings

(b). Interest on Capital

(c). Interest on Drawings

(d). Additional Capital Introduced

Tl & 3TEI0T W A7 sfae fhar Sirar &:

(a). HSIER &l Yail .

(b). oI - g1l WraT|

(c). HTSIER T FUT WIdT.

(d). omeT 3R gIfed TATAST Qi (1)

Interest on Partner’s Drawings is debited to :
(a). Partner’s capital account.

(b). Profit and Loss Account.

(c). Partner’s Loan Account.

(d). Profit and Loss Appropriation account.

Z faf#@es & 2100 9fd Hed & 10,000, 9% FOTTA! &l X4 T T W SIRT fohdT| el &
wqﬁaﬁmﬁm‘rﬁezwooma‘m%ﬂmeaﬁsﬂwﬁmﬁa
RpT ST |

(a). 40,000 wfceyfcy shferas Rera &

(b). 40,000 ot 3R g1far & faaoT &

(c). ¥ 25,000 Ffceffcr NATA Rtd & 31 X 15,000 1e7 3R BTt & faawor &



(d). 15,000 Sicegicr ifazs Rerd & 3R X 25,000 o137 3K BTied o faeor &
372rar

3¢ T&ufd & 59 31,00,000 HoF & HOTYAT &l 3ifehcd Hed W SIRY fohar SITem § e

3oTehT 2METeT 10% NIATA W gidr g, dl ¢ NfAIA 1 3fae frar sreem:

(a). Foaw 3Afa @i

(b). FUTIAT o QT T AT @rT

(c). FHOUTIT I &Tfe¥ I AT A T WTAT

(d). TR A HIS o w7gr (1)

Z Ltd. Issued 10,000, 9% Debentures of ¥ 100 each at a discount of ¥ 4 per

debenture. The company has a balance in Securities Premium Reserve of ¥ 25,000.

Discount on Issue of Debentures will be written off as:

(a). 40,000 from Securities Premium Reserve

(b). 40,000 from Statement of Profit and Loss

(c). 25,000 from Securities Premium Reserve and % 15,000 from Statement of
Profit and Loss

(d). ¥ 15,000 from Securities Premium Reserve and % 25,000 from Statement of
Profit and Loss

OR
In case debentures of % 1,00,000 are issued at par but redeemable at a premium of
10%, the premium payable is debited to
(a). Debentures Suspense Account
(b). Premium on Redemption of Debentures Account
(c). Loss on Issue of Debentures Account
(d). None of the above

HfFFUT ((A): AT FI STed T TAT AW it @I FHr A1 o Tl & sfoe fmar

STl

SRUT ( R): STed fohT aTT R Y GIRT € I STRT 76T TohdT SIT HehelT |

(a). 3IfAFUT A 3R FROTR ST T&T &, 3R FROT R, 31fARUT A Fr GgT earear g

(b). 3THPUT A 3R SHROT R GIAT Tl g, elifohed PRUT R, 3THFUT A FI Tgr saream
T8 &

(c). 3ATHFYUT A ITeld & offche] hRUT R Tl g

(d). 3THSUT A TET § AfeheT HROTR I & (1)

Assertion (A) :- Share Capital account is debited by the amount of called up
capital at the time of forfeiture of shares.
Reason ( R) :- Forfeited shares cannot be re-issued at discount.

(a). Both Assertion (A) and Reason (R) are Correct and Reason (R) is the correct
explanation of Assertion (A)

(b). Both Assertion (A) and Reason (R) are Correct, but Reason (R) is not the
correct explanation of Assertion (A)



(c). Assertion (A) is incorrect, but Reason (R) is correct.
(d). Assertion (A) is correct, but Reason (R) is incorrect

P 3R Q |IS1ER § ST 5:3 & 3e]dT # o187 31 gIiey T faTeiet &l 81 3egiat 20%
%ﬁ%%@Rﬁme@aTa?mﬁqa‘arﬁml Ife R 39+ fged & anfa 2
10,000 # & ehaeT X 8,000 AT &1 R & TARM o THY B shl TTTcl T Hod gIaTT:-

(a). 2,000
(b). % 20,000
(c). 50,000

(d). 1,00,000

372t
M 3R N &1 s#er: €1,00,000 3R % 2,00,000 it o131 | it R &7 10% Ffdas & ax
O fe=m Srver | fE @y o 37 # o8 X 24,000 AT| AT M 3R N &1 il o) s2ref fAer:

(a). 10,000 3 T 20,000

(b). 8,000 31X T 16,000

(c). ¥ 4,000 31X 28,000

(d). 16,000 31k % 8,000 (1)

P and Q are the partners sharing profits and losses in the ratio of 5:3. They
admitted R as a new partner for 20 % share. If R brings only 8,000 out of his share
of goodwill  10,000. The Value of firm’s goodwill of the firm at the time of R’s
admission will be :

(a). 2,000
(b). % 20,000
(c). 50,000

(d). % 1,00,000
OR
M and N contributed capitals of ¥ 1,00,000 and % 2,00,000 respectively. Interest on
capital will be allowed @ 10 % p.a. If profit for the year were ¥ 24,000. The amount
of interest on capital received by M and N will be :
(a). ¥ 10,000 and X 20,000
(b). 8,000 and X 16,000
(c). 4,000 andX 8,000
(d). 16,000 and X 8,000

A fad Freufaes TAafa F afer 3R 39 IR 9 997 F&Ar 9 3 10 & 3T
L
A 3R B el @8IER &1 A o 3191 BX & TohITT T 37aTcTTel it o foIT 3ATTA T 10,000
IGEACH ﬁTBﬁmaﬁaﬁerwmﬁaﬂ?T%ﬁ»msooomﬁm WA
¥ 3 T T | T oI & 3TeR0T UX 47T &3 6% Wiy ¥ & a1 |



10.

11.

Read the following hypothetical situation, answer question no. 9 and 10.

A and B are two partners. A withdrew % 10,000 quarterly for making payment of his
house rent. And B withdrew % 5,000 monthly at the end of every month for making
payment for the school fees of his daughter. Rate of interest on drawings given in
the partnership deed is 6% p.a.

A & 3TgI0T UX ST gIam

(@). 2,400

(b). 1,200

(c). 600

(d). 1,000 (1)

Interest on A’'s drawings will be

(a). 2,400

(b). %1,200

(c). %600

(d). ¥ 1,000

B & JTIUT X sTST ToldT STTaT ............... Helo

(@a). 6.5FgA

(b). 6 FE

(). 5.5#g

(d). 3F (1)
Interest on B’s drawings will be charged for ............... months

(a). 6.5 months

(b). 6 months

(c). 5.5 months

(d). 3 months

FISERT I Goit FERR 219 OX 37 =Tel @ & Hf3e uet F RS sy arehy 72
(i). HTSIERI HT AdeT
(ii). ATSICRY SHThATErA
(iii). 3TELOT YT =T
(iv). oif W =a1eT

e e o

(@). Fad (i), ii) 3R (iv)

(b). Fad (ii) 3R (iii).
(c). had (iii)
(d). ohaer (i) 3R (i) (1)

Items shown on credit side of partners’ current account when their capital are fixed:
(). Partners Salary
(ii) Partners Commission
(iii) Interest on Drawings
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13.

(iv). Interest on Capital
Choose the correct option:
(@). Only (i),(ii) and (iv)
(b).  Only (ii) and (iii)
(c)-  Only iii)
(d). Only (i) and iii)
A fafAes & | fafAes & @ufd 2 5,40,000 & @HET| X 90,000 T AT Teh
EaRT foRam a1T 3R AW TRT % 100 F 9% FOTIT GaRT 10% & I IR Xeh & 15|
FUT9T W dc¢ @id f sfae fohar e :

(a). 40,000

(b). % 50,000

(c). 60,000

(d). ST O IS o et (1)

Maya Ltd. purchased the assets of Saya Ltd.for ¥ 5,40,000. Paid % 90,000 by
cheque and the balance amount by issuing 9 % debentures of ¥100 each at 10%
discount. Discount on issue of debentures account will be debited by:

(a). 40,000
(b). ¥ 50,000
(c). 60,000

(d). None of the above

Teh U=l o T 10 I Hed & 4,000 FHAAT 37T FHAHT W ST | AR fAe=rear

o o

37TdeeT UX % 3; 3TdcsT WX 2 2; TUH IrdaAT IR T 4 3R 3ifadsT Iraar . T 1 gfey 3197 |
6,000 ﬁaﬁa;ﬁrwﬁa?rcrrvcrgtr | G TG I 3T TUR IR Tac fohar
T | AR SRR 3Tdest I gEdiaRd o & 7| At Tel & iy RAftiad g

N ,Fﬁmwmﬁrrﬁ%\rmmg‘é?

(a). 1,000

(b). ¥2,000

(c). 10,000

(d). %12,000 (1)

A company issued 4,000 equity shares of ¥ 10 each at par value. Amount were
payable as under:

On application % 3; on allotment X 2; on first call ¥ 4 and on final call ¥ 1 per share.
Applications were received for 6,000 shares. Allotment was made on a pro-rata
basis with all applicants. Excess money was transferred on allotment. How much
amount was received in cash on allotment, if all due amount were duly received?

(a). 1,000
(b). % 2,000
(c). 10,000

(d). 12,000



14. X 3R Y %A % 20,000 3R % 40,000 HT G & AU T GH H TSGR § | Z 30 oed

15.

$r warfa & fow 2 30,000 m%sﬂisﬁwm/s TE8 & oI 3Mmearicre Goit offet s
HTEGRIHAT &1 Z T Yol A9TeTeT BIam:

(a). ¥ 40,000.
(b). % 45,000.
(c). ¥ 20,000.
(d). % 14,000. 1)

X and Y are partners in a firm with capital of ¥ 20,000 and ¥ 40,000 respectively. Z
brings ¥ 30,000 for his share of goodwill and he is required to bring proportionate
capital for 1/3rd share in profits. The capital contribution of Z will be:

(a). 40,000.

(b). ¥ 45,000.
(c). < 20,000.
(d). % 14,000.

A 3R B ArEIeR &1 FEieRY faoi@ & 367dR 3o o ol 38 YR faaRa faar
ST - Tger T 20,000 HATT & I 3 AT 1120 3 - 2 & 3reqaTd #| Ffg 31 A, 2023
T THICT a8 & TAT B T 18 2 2,00,000 &AT| A 3N B & Srer TR o1y 7 @am:
(a). ¥ 1,18,000 3R % 82,000
(b). % 1,00,000 31} Z 1,00,000
(c). ¥ 1,20,000 3R 80,000
(d). % 1,40,000 31} ¥ 60,000

372raT
X 3R Y & e w2 TST@H 378l 2 1,00,000 7 fAaer fmar am| 3iraa @msr 2 32,000
UT| 3NN H FHATS H WHGTT & @15% o | T T Hedishe AL T T &7 T
15% T & A oI18T o FTR o187 T 2 FTeT oh v I TohaT 91| TITTY T Hed gIam:
(a). 30,000

(b). 32,000
(c). 34,000
(d). 7T RS oy AST (1)

A and B are partners. As per partnership deed profit will be distributed between
them as - first ¥ 20,000 equally and rest amount in the ratio of 3 : 2. If the profit of
the firm for the year ended 31 March, 2023 was % 2,00,000. The profit share
distributed between A and B will be :

(a). ¥1,18,000 and % 82,000

(b). ¥ 1,00,000 and % 1,00,000

(). ¥1,20,000 and % 80,000

(d). ¥ 1,40,000 and % 60,000

OR
X and Y had a firm in which they had invested % 1,00,000. On an average, the profits
were X 32,000. The usual rate of earning in the industry is @15%. Goodwill is to be
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17.

valued at 2 years’ purchase of profits in excess of profits @15% on the money
invested. Value the goodwill will be :

(a). 30,000
(b). 32,000
(c). 34,000

(d). None of the above

5 3aedr H, [fufd faawor # & 7715 el AsieRt & qoit @rd # FAEaRd 6 6
ST &

(@). A HEER & YT G

(b). TSR T Garfagia W

(c). a@anaﬁm—qw

(d). Hrsiarfrq#rﬁamw (1)

In this case, Goodwill given in the Balance Sheet is NOT transferred to the partners'
capital account:

a). On Admission of a new partner

b).  On Retirement of a partner

c). On Death of a partner

d).  On Dissolution of Partnership Firm

T, P 3R M WI81eR & it ofe7 3R gIfat Y 3:2:1 & 37]0Tel # died & | P farfaigd gian g
AR P T Garfaigia & fafdr o Eaid 1 7o X 1,80, 000 %|taﬁ?rqgﬁ@r€r%96 000
awequ+dwafrqaﬁﬁ%| T3ﬂTM$rEr€|T3FITnFr32%I Rera Tamer 91 3iR ey
3-|o:|,,k-ll<-|£fdlulo-llah_1'|

a2 | faaxor T, T (3) T ()
THh
(i) T T Yol @relt ATH @)
Pa:rqsﬁm ATH 32,000
Maﬁrtm’r@?ﬂ ATH (o) .
Ea1fa @rdr STAT 96,000
UG REIGIRECICRRERIEIS)
(i) | T o qalt @rar ATH 18,000
M T Yot @ ATH ...(C)......
P &hT Yol TTT STAT (¢ )
(TaﬂTMa:qsﬁmﬁPaﬁrtzrrﬁ
TATATST & o1t )
(3)

T, P and M are partners’ sharing profit and losses in the ratio of 3: 2 : 1 . P retires
and on the date of P’s retirement goodwill is valued at % 1,80,000. Goodwill already
appears in the books at a value of % 96,000. New ratio of Tand M is 3 : 2. Fill in the
blanks and calculate gaining ratio.
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Date | Particulars L.F Dr. (%) Cr. (%)

(i) T’s Capital Alc Dr. (@)t
P’s Capital Alc Dr. 32,000
M'’s Capital A/c Dr. c(b)ennnnn
To Goodwill A/c 96,000
(For Goodwill written off)
(i) T’s Capital Alc Dr. 18,000
M’s Capital A/c Dr. N (o) I
To P’s Capital A/c N (o ) ISR

(For adjustment of P’s Goodwill share
from capital accounts of T and M

X 3R Y AIER & St o1t 3R g1ied hr 3:2 o equred & [qenfad e &1 a¥ & ke, X
ﬁmﬁﬁsﬁmﬁw%ﬁv%5ooooﬁmﬁ3ﬂwvﬁr%6ooooﬁm|ﬁma&$m
H, Ig AT §31 TP TSIl & 3TEIOT W AT 12% o TATHA 9T 10% sfae fovar arar am|
Wﬁﬁaﬂnﬁ%%@ﬂmqﬁﬁwaﬁl 39 HT FH TASE FT F
fea@m|

372ar

e, 9eT 3R TeeT 3:2:1 & [T # oef died g1 AT B ufd a¥ ~geAdA
1 5ooooasmaa%rmn€r1ﬁ3ﬁgé%| 31 &, 2023 F GATCT Y F AT B Y 2
30,000 &r mﬁaélqﬂfrﬁq%d%lﬁruddmumﬁﬁ‘mﬁl (3)

X and Y are partners sharing profits and losses in the ratio of 3 : 2. X withdrew %
50,000 and Y withdrew % 60,000 during the year for their private use . At the end of
the financial year , it was discovered that interest on drawing was wrongly debited to
them by 10 % instead of 12 %. Pass journal entry to rectify above error. Show your
working clearly.

OR

Anil, Binay and Chandan are partners sharing profits in the ratio of 3:2:1. Anil is
guaranteed a minimum profit of ¥1,50,000 per annum. The firm incurred loss for the
year ended 31st March, 2023 of ¥ 30,000. Pass journal entries in the books of the
firm.
A fafAcs o I3 fafAcs & % 3,15,000 9fdwel 9X, % 1,50,000 &7 THh Had, ¥
1,40,000 T F2MeT 3 % 10,000 FT FeArax 3R T 20,000 Fr SAGTRAT & @IET | TH
fafAes & gfawer &1 S7aTdeT 12% aTel X 100 FHed & KUTTHT T 5% NATH T R
0 TT| TERTS et viafet Y|

3dr
1 319, 2023 T, TEeT fAfACS 7 10% Hr Fe T X 100 e & 50,000, 8% FOTH
ST 36T, TSrTahT 4 ETel & ST 5% 3 SR o% e gham| el & Ffdsfa hfaas



3RTEAT @Id H 2 5,00,000 T AV &1 FHOTIT SIRT 6 iR FHOTIT SIRY hlad T
F/RTToT I ITTATE T it o T 3R AT giasear al|
(3)

M Ltd., purchased a building worth ¥ 1,50,000, machinery worth ¥ 1,40,000 and
furniture worth ¥ 10,000 from Z Ltd., and took over its liabilities of ¥ 20,000 for a
purchase consideration of ¥ 3,15,000. M Ltd. paid the purchase consideration by
issuing 12% debentures of ¥ 100 each at a premium of 5%. Record necessary
journal entries.

OR

On April 1, 2023 ,Rahul Ltd. issued 50,000, 8% debentures of ¥ 100 each at a
discount of 10% , redeemable at a premium of 5 % after 4 years. The company has
a balance of ¥ 5,00,000 in securities premium reserve account. Pass necessary
journal entries for issue of debentures and to write-off discount/Loss on issue of
debentures.

20. 37l 3R TR Teh B H 4:1 & IeT0Ted H ST diead arel ATIGR F| 1 318eT, 2023 T

21.

ﬁﬁﬁmﬁwm%%wﬁﬁ%m | 3SThT ST TS HE TSIl JTeTuTel 3:2:1
o7 | 37 faf2r F B & FTATT ST 7 T 20,000 FT AW, amaﬂtgﬂ%rzanﬁ:ﬁr% 10,000 T
3fae A 3R faama 39fa @ra & 2 5,000 &7 379 AV AT| ITRFT & 0T & JaT H
3T ASTATHT Yfafsear |

(3)

Atul and Balbir were partners in a firm sharing profits in the ratio of 4:1. On April 1,
2023 they admitted Chetan as a new partner .Their new profit sharing ratio was 3:2:1
On that date there was a balance of ¥ 20,000 in general reserve, a debit balance of X
10,000 in the profit and loss account and ¥ 5,000 debit balance in advertisement
suspense account of the firm. Pass necessary journal entries regarding distribution of
above items.

TATH fAfAes &1 31feed geit * 30,00,000 & 1@ % 10 9fd Hod & GHar 3wt &
et fohar s ar g1 &9 o 70,000 SRR SR a1 & foIv 3desT 3maAEa R
69,000 ﬁ%ﬁavi%rtrma?rmm 3,000 372l 9X ¥ 2 iy 3721 &r ggelr 3R 3ifaa
quuduaﬁausmaafrmw%faaawaé||ir3¢%ra—crao—{1%m?rtr|mﬁra—cr
fpw arw 3felt 3 & 2,000 Y 2 11 GfY T Prax F S T 2w T

(a) U= 3T, 2013 & HTFT I, 89T | & 3THAR =T & T faor

aframtrsﬁ'aal‘rgm
(b) $Hchi=<~r(f YT WX Al T daR &Y (4)

MM Ltd. has an authorised capital of ¥ 30,00,000 divided into equity shares of ¥ 10
each. The company invited applications for issuing 70,000 shares. Applications for
69,000 shares were received. All calls were made and duly received except the first



and final call of ¥ 2 per share on 3,000 shares. These shares were forfeited.Later on
2,000 out of the forfeited shares reissued at % 11 per share.
(a) Present the ‘Share Capital’ in the company balance sheet as per
Schedule lll, Part | of the Companies Act, 2013.
(b) Also prepare ‘Notes to Accounts’ for the same

22, AT, Selmer AR THer U A H ASER A ST oret 3R @it b 5:3:2 & 3741 & sied
| FYRATIT F 3G T 31 AT 2023 HY Ha T ﬁmwﬁmmwawﬁ@ﬁﬁ
Ut (7ehe & 3reman) 3R aredl SAeTRAT & gEdeR T & a7, ﬁmﬁ@amm

(a)ﬁﬁraamwiaﬁr%%ooo@rwméﬂaﬁwmﬁﬁmwml
(b) % 67,000 F TERT o T 35,000 SR FieR TR T3 3 AT 1 3 aehe 31
AT ol TS|
(o)éwrrerﬁrmfra#re18000ww%mma’r3ﬂwﬁmmm
(d )qwfrasfaaz?rwaﬁeﬁooo maﬂwﬁermwﬁmmw
e hl GEThT H ITRIF oletee o Tl JTaedeh Yot Fiafsear aof | (4)

Nidhi, Kailash and Rakesh were partners in a firm sharing profits and losses in the
ratio of 5:3:2. The firm was dissolved on 31t March, 2023 by the order of the court.
After transfer of assets (other than cash) and external liabilities to Realisation
Account, the following transactions took place :
(a) An unrecorded liability of the firm of ¥ 45,000 was paid by Nidhi.
(b) Creditors of ¥ 67,000 accepted furniture at ¥ 35,000 and the balance was
paid to them in cash.
(c) Kailash had given a loan of ¥ 18,000 to the firm which was paid to him.
(d) Expenses on dissolution of the firm amounted to ¥ 6,000 and were paid by
Rakesh.
Pass the necessary Journal Entries for the above transactions in the books of the
firm.
23. T 3T ffies i Trae 7 Feafafld deesT i st gfafear #{:
(a). T 100 9T He& & & 200 3T foleg X 10 & NfAIH X Sl fehar arm a1 X 60
gfa 37er mm%a) T JTTacT IR T $ITCATT o &l TR STecT T TordT 91T |
o7 372 WX T 20 qﬁrm@rmﬁ?aﬁﬂwaﬁﬁmézm STed fohT 1w
37T @l 80 el 3721 oh FHed W YUT Yehell & & H YoT: TAAAT o ar2m|
(b). %4 ufar 37T & fEE o ol T 1T 2 1oqi%raq—zra:15o 372l &1 2 6 Ui
3191 (% 2 NfAge |fee) v 3iraesT TR T I o it I STec Y feram | X 4
gfer 372r (% 2 mm)ﬁrqﬁaﬂ?aﬁﬂmaﬁﬁﬁzﬁl Sted frw It
37t ST qUT Yeohell & & H T 2 Ui 370 T g I Y=: AT o arar|

(3+3)

372qar
g faf@es & 2 10 9% & 1,00,000 THAT 3720 & foIT 3maesy 3md™a fvw) 37er
% 5 gfar 3721 & NATH X ST fhw 37w | TfY 39 9o S 2

3TdcsT 3R 3MTaee X - % 8 ufd 3791 ( % 5 NfAg# afga)




Tgell 3R 31Tde Il WX - 99

1,50,000 372t & fAT 3mdet gred gU1 10,000 it & 3Mdet foled X few arw
wammﬁﬁmﬁmmwmm%mw

(i) 80,000 3721t 3 TIT Mg 1 60,000 37eT 3Tafee T 7T

(i) 60,000 3727 o ToIT 3TTdgant @l 40,000 372T fTafed fhT 1T

31MaesT 3K 3Taesd W 9red faRerd T I Iraar W ST ATA & 1Y ARSI T
T ST AT| TS, Gﬁﬁ%ﬁﬁmﬁmﬁwo R 3afed T T 3,
Tgell 3R A AT AT 3ITATT el H Dol QT IeTeh AW STecd Y T a1 |
a—crﬁwmmﬁafrqu%m?ra:mﬁﬂzqﬁmram—an SR TR
T

HUAT T GETRl H 3T efcel & [T 3Maegen Asier gfafeedr gsof |

(6)

Journalise the following transactions in the books Bhushan Oil Ltd.:

(a). 200 shares of ¥ 100 each issued at a premium of ¥ 10 were forfeited for the
non-payment of allotment money of ¥ 60 per share (including premium). The
first and final call of ¥ 20 per share on these shares were not made. The
forfeited shares were reissued at X 80 per share as fully paid-up.

(b). 150 shares of ¥ 10 each issued at a premium of ¥ 4 per share were forfeited for
non-payment of allotment money of ¥ 6 per share (including premium X 2). The
first and final calls of ¥ 4 per share (including premium % 2 ) were not made.
The forfeited shares were reissued at a discount of ¥ 2 per share fully paid-up.

OR

S Ltd invited applications for issuing 1,00,000 equity shares of ¥ 10 each. The
shares were issued at a premium of X 5 per share. The amount was payable as
follows:
On application and allotment — X 8 per share (including premium X 5)
On the first and final call — Balance
Applications for 1,50,000 shares were received. Applications for 10,000 shares
were rejected and pro-rata allotment was made to the remaining applicants on
the following basis
(i) Applicants for 80,000 shares were allotted 60,000 shares.
(i) Applicants for 60,000 shares were allotted 40,000 shares.
Excess amount received on application and allotment was to be adjusted
against sums due on call. X, who belonged to the first category and was
allotted 300 shares, failed to pay the first and final call money. His shares were
forfeited. The forfeited shares were re-issued % 12 per share as fully paid-up.
Pass necessary Journal Entries for the above transactions in the books of the
company.

24, AT 3R ST 2:3 & I7gared & o187 3N 1ol diee arel Asier g1 31 A, 2023 &

3oTehr TUfa faaxor svw%

gdme z geafaar z




EEIE sTehe, 1,80,000
AT 5,80,000 qETH FOT 6,60,000
oot 7.40.000 | 13,20,000 | ®=iteR 2,80,000
SECARS 6,40,000 | ¥l 4,40,000
¢ forer 3,20,000 | faraer 3,20,000
T8t 3R gifey @rer 1,40,000 | FRfeTdr 3,40,000
T 2,00,000

24,20,000 24,20,000

3ogiel gHeT Pl ATl T ld el X ATSIGRT & eferel foha:

(i). AT shael T 3,20,000 T A=A Yoil AT &, TE AT ST ol 1/6dT [GEAT wTeh, A

e H @A g

(i). e T TATA T HeF X 2,40,000 B
(iii).  f&AF F3MTST & fIT T 18,000 T 74T FohHaT I1T AT
(iv). Yderd ade X 8,000 |
(v). Wil 3R 7MY 9T 15% Hedgd ol STea|

(vi). ¥leh &I HedicheT X 40,000 ¥ HH &

THT o TN I B T Teclehl H STotel TiATSeal arg Y

37Yar
X, Y 3R Z &1 Tufa faavor 31 A, 2023 1 39 YR AT :

CRRIY

4

»




AR 20,04,000 | § & Tepcr 18,00,000
e iy Rerd 20,000 | AT SieR 3,00,000
T8y 3T grfey @rar 2,10,000 | e :- ITGTT 16.000 2,84,000
EEIRCICH Tieh 40,000
X 5,10,000 | 3rarer Ufadm 10,30,000
Y 4,00,000 | foraer 3,00,000
Z 4,00,000 | TTifa 90,000
35,44,000 35,44,000

1 319, 2023 T Z FaTforqe &1 17 3R fArafafad T ) FeaAfd gs:
(i).  3rerel GO & Yeraediche < 11,30,000 T fomam 1| HafY 1R 3 .

(ii). AU F 10% aﬁram’ra@
(iii).
(iv).

Tl 90% deh & gl 3T AT
A i T &1 7o % 60,000 B

(v). zﬁm%194ooowwﬁmmﬁwaﬁuﬁmmmﬁ

TR T & S|
(vi).

X3-ﬁTYEwTH’&T3-1§WH2.1 glamm|

JeTeediehe] WIclT AR AFIERT & Yol Gl IR |

a

(6)

Amit and Binay are partners sharing profits and losses in the ratio 2:3. On 31st March,
2023 their Balance Sheet is as follows :

Liabilities T Assets T

Capitals: Cash 1,80,000
Amit 5,80,000 Book Debts 6,60,000
Binay 7.40.000 13,20,000 | Furniture 2,80,000
Creditors 6,40,000 [ Stock 4,40,000
Bills Payable 3,20,000 [ Investments 3,20,000
Profit and Loss A/c 1,40,000 [ Machinery 3,40,000

Goodwill 2,00,000




24,20,000

24,20,000

They admitted Chaman into partnership on the following terms:

(i). Chaman brings only his capital of ¥ 3,20,000 he is unable to bring his 1/6th share

of goodwill in cash.
(ii).
(iii).
(iv).
(V).
(vi).

Prepaid salaries ¥ 8,000.

Goodwill of the firm is valued at ¥ 2,40,000.
There was a claim of ¥ 18,000 for Workmen’s Compensation.

Furniture and machinery to be depreciated by 15%.
Stock is undervalued by % 40,000.

Pass Journal Entries in the books of the firm on admission of Chaman

OR

The Balance Sheet of X, Y and Z as at March 31, 2023 stood as follows:

Liabilities 4 Assets (4
Creditors 20,04,000 [ Cash at Bank 18,00,000
Investment Fluctuation Sundry Debtors 3,00,000
Reserve 20,000 | Less :- Provision 16.000 2,84,000
Profit and Loss Alc 2,10,000 [ Stock 40,000
Capitals Accounts:- Fixed Assets 10,30,000
X 5,10,000 | Investment 3,00,000
Y 4,00,000 | Goodwill 90,000
Z 4,00,000
35.44.000 35.44.000

Z retired on 1st April , 2023 and the following adjustments were agreed upon:

(). Fixed assets revalued at ¥ 11,30,000. All the Debtors are good.

(ii).  Investment decreased by 10%.

(iii).  Stock was reduced to 90%.

(iv). Goodwill of the firm is valued at ¥ 60,000.

(v). Z shall be paid X 1,94,000 immediately and balance transferred to his loan

account.

(vi).

The new ratio of X and Y would be 2:1.




Prepare Revaluation Account and the Partners’ Capital Accounts.

25. TH, U AR 0 Toh B H 2:2:1 & HeJurd & o187 3R gliat AIST e aTed Higar A 31
AT, 2023 3T TUfa faavor 58 g a1

31 AT, 2023 d& UH, U 3R 9 1 wufa @aor

ORIy g Ut 4

COCAN 25,000 | #1f# Td et 1,05,000

= Rera 50,000 | Telie 95,000

Hi#eh eifaqfd Rerd i 15,000

g - 60,000 | faaer 85000

) Earfa 60,000
o) 80,000
o 75,000
70,000

3.60.000 3.60.000

dr & 7cg 30 S, 2023 H &Y 5| AR H Feg W Al ey & fFrfafad

graereT few are §:

(). @ H T FT Hedished ool TR st & rad oy H 2.5 a¥ $r @l |
R STeIT 4T St ok % 40,000 1)
(ii).  Fcg I ARG oeh OY & oI1eT AT §1iel H f&E bl IT0TAT TehT o TR R Y ST
dT| 31 AR, 2023 & TATCT ay & Torw foshr T AfA— € 2,00,000 3R ag 1 3180,
2023 & 30 SfeT, 2023 Teh I MY T 75,000 Y| 31 AT, 2023 T HATCA aY &
forT msT &1 € 50,000.
(iii). Gl W 10% T a¥ & &T & AT FeTeT fohaT ST 2|

ot T Gl @I 38 aTRE I AT & T R |

(6)

M, N and P were partners in a firm sharing profits and losses in the ratioof 2: 2 : 1.
On 31st March, 2023 their Balance Sheet was as under :
Balance Sheet of M,N and P as at 31st March, 2023

Liabilities

4

Assets




Creditors 25,000 | Land and Building 1,05,000
General Reserve 50,000 | Plant 95,000
Workmen Compensation Stock 15,000
Reserve 60,000 | Investment 85000
Capitals:- Goodwill 60,000
M 80,000
N 75,000
P 70,000

3.60,000 3,60,000

P died on 30th June, 2023. The partnership deed provided for the following, on the
death of a partner :

(i).
(ii).

(iii).

Goodwill of the firm was to be valued at 2.5 years purchase of average profits
of the previous four years which were ¥ 40,000.

P’s share of profit or loss till date of death was to be calculated on the basis of
sales. Sales for the year ended 31st March, 2023 amounted to ¥ 2,00,000
and that from 1st April, 2023 to 30th June, 2023 amounted to ¥ 75,000. The
profit for the year ended 31st March, 2023 was ¥ 50,000.

Interest on capital was to be provided @ 10% p.a.

Prepare P’s Capital Account to be rendered to his executor.

26. ﬁmﬁﬁ?ﬁm%ﬁvyﬁmrmﬁ%dwﬁ%um# IRI e § gatad

3TaTR AoTaATHDT giafsear i

(i)
(ii).
(iii).

%1,00,000, Fcdeh 3100 & 9% KUTTAT &l 5% T I AR fohaT 1T, TSietent
T 10% b NTAIH W AT JAR—=T |

2 50,000, 93 % 100 & 7% FKOTIAT ol 5% NAIH W IR v aram, fSieenr
T 10% o MfATH W fhar ST |

2,000, ek X 100 & 10% FUTTAT ol 5% T W SIRT fehar a7, foietept Qere
3ifehd Hed TR forar S| (2+2+2)

Pass necessary journal entries relating to the issue of debentures in the books of
Akash Ltd. for the following transactions :

(i)
(ii).
(iii).

21,00,000, 9% Debentures of ¥ 100 each are issued at 5%
discount,redeemable at a premium of 10%.

% 50,000, 7% Debentures of ¥ 100 each are issued at 5% premium,
redeemable at a premium of 10%.

2,000, 10% Debentures of ¥ 100 each are issued at 5% discount,redeemable
at par.




27.

28.

HET T
(Ta<ir faaxoTt & fageryon)

PART B
(Analysis of Financial Statements)

fArAfaf@a # & fohe #al &l are] aREAURIAT # fdel T S1ar § dfehed ool
aREafT 71 8T

(a). Ydara T

(b). TEIIHT

(c). Ty

(d). @ (a) 3iR(b) (1)

Which of the following item is included in Current Assets but not in Quick Assets :
(a). Prepaid Expenses

(b). Inventory

(c). Cashinhand

(d). Both (a) and (b)

YT |:- TR FaTE fIaT0T AS-3 o TR AR fohar SITeT g 3R =i hr arfafaferat
T ATl ﬁé@raﬂTﬁ?ﬁﬁwﬁlﬁﬁ'&Tﬁqdllqnd R~ ST g
FUA Il: - mmﬁwwm%ﬁ?ﬁwwasﬁammwm%l

(a). AT HUT TETE.
(b). AT YT T &
(c). HUTITEE IR FUA Il TIAT §
(d). YT | I g 3R FUA 1l T &

ar
dg #G Sl sTehey 9aTg Taaxor # fad aifafafeat & 3iaeta 3 g:-

(a). I =TS HAAA W =TS

(b).  THT 9T §3T

(c). &% HRATART 1 ToFsforaret

(d). #Ter 1 forshr (1)

Statement | :- Cash flow statement is prepared as per AS-3 and Classify the
company activities into Operating, Investing and Financing Activities.

Statement ll:- Cash Flow Statement is a tool of analysis of financial statements of a

company.
(a). Both statements are correct.

(b). Both statements are incorrect

(c). Statement |is correct and statement Il is incorrect.
(d). Statement |l is incorrect and statement Il is correct.



OR
Item that falls under financing activities in the cash flow statement :-

(a). Interest on Non - Current Investment
(b). Dividend Received

(c). Repayment of Bank Overdraft

(d). Sale of Goods

29. fArafaf@a & & i ar 3T Aawor & 3T T Ueh 3uaHior §?
(i) sTndT gatg faaxor
(ii) orgTehat 3TeTdTcT

(iii) <87 3R g1fer a1 faaxor

(iv) Feufa faazor
e fdehod el :
(a) (i)
(b) (i) 3 (i)
(c) (ii)
(d) (i), (ii) 3R (iv)
T
'R e ST @Iar F91 & el fFawer & sq /3 9-0y &F 3iq9ia fewrs
garg
(a). 3 gair
(b). IR IR HAAY
(c). Erdmfas 3uR
(d). 3cUahIfels 3UR (1)

Which of the following is a tool of Analysis of Financial Statements ?
(i) Cash Flow Statement
(i) Accounting Ratios
(iii) Statement of Profit and Loss
(iv) Balance Sheet
Choose the correct option :
(a) (i)
(b) (i) and (ii)
(c) (i)
(d) (i), (ii) and (iv)
OR

‘Shares Option Outstanding Account’ appear in the company Balance Sheet
Under this Head/ Sub -Head

(@). Share Capital

(b). Reserve and Surplus
(c). Long Term Borrowings
(d). Short Term Borrowings



30. AT H & ThT old-¢eT I IRUMH 'HAeha! ol TdT8" Il &7
(@) 5,000 Soh H AT T
(b) & & 220,000 g fehrer
(c) el foiderhr farshr % 10,000
(d) =Thcr & ToIT FOTIT ST el

Which of the following transactions result in ‘Flow of Cash’?
(@) Deposited X 5,000 into bank

(b) Withdrew Cash from Bank % 20,000

(c) Sale of Current Investment % 10,000

(d) Issue of Debentures for cash

31. Suel JrfafeaA, 2013 &1 3EgE I, &7 | & 3R Feafafad At & fea o 3k
3-eMer & 3eieT U O % €T FawoT & T S|
(i) GiTTel I
(i) 913
(iif) HT3T T YeTT STt dTel F U1
(iv) gerersT
(v) &&d O
(vi) Gl 3YOT (3)

Under which Head and sub-headings will the following items be placed in the
balance sheet of a company as per Schedule lll, Part | of the Companies Act, 2013.

(i) Capital reserves

(i) Bonds

(iii) Loans repayable on demand

(iv) Livestock

(v) Cheques in Hand

(vi) Loose tools

32. (a). U huel T SRS Yol X 2,40,000 &1 SHRT AL 3Tl 1.5:1 § 3N =me]
39T 2.5 11 8| el IREATTTAT AR 3R w1 IREUT>! i 7071 |
(b). AEATATET SATARRY & "HOT - FHAT FUTCT" T 0T H |
el T X 3,50,000, Fel HOT X 2,50,000 3R 7o &=TeriRar ¥ 80,000 | (3)

(a). Working Capital of a company is ¥ 2,40,000. Its liquid ratiois 1.5: 1 and
the current ratio is 2.5 : 1. Calculate quick assets and current assets.
(b). Calculate ‘Debt Equity Ratio’ from the following information.
Total assets % 3,50,000, Total Debt ¥ 2,50,000 and Current Liabilities % 80,000.



33.

TR fafAes & 31 &A/r 2022 3R 31 AR 2023 & AT a¥ & o 3R gl &
TIaRoT & AT G A, HUA T A1 3R T T JeleATcHH Ta0T TIR Y-

fFazor 31.03.2023 (%) 31.03.2022 (%)
TdTeleT T 3T 20,00,000 15,00,000
FIARY fBd = 10,00,000 8,00,000
T I 4,00,000 2,00,000
FLHI T 40% 40%
37ar
fAefei@d ga=r @ Ar ffAes $ ey 3mer o1 {fafy f[daver o |
azor 31 AT 2023 31 A, 2022
(4] ()
| gAar 3R ¢gae
orers 50,00,000 30,00,000
1. 3R I 30,00,000 10,00,000
2. A= ! 20,00’000 10’00,000
3. a_la:\g \J 1 3 1 3
Hel 1,00,00,000 50,00,000
Il gFafaar
1. 3% - arer TREORET 70,00,000 30,00,000
2. rer R 30,00,000 20,00,000
el 1,00,00,000 50,00,000

(4)

From the information extracted from the statement of Profit & Loss of LR Ltd for the
year ended 31st March 2022 and 31st March 2023, prepare a Comparative

Statement of profit & loss:

Particulars

31.03.2023 (in ¥)

31.03.2022 (in ¥)

Revenue from Operation
Employee Benefit Expenses
Other Expenses

Tax Rate

20,00,000
10,00,000
4,00,000
40 %

15,00,000
8,00,000
2,00,000

40 %

OR

From the following information prepare the Common Size Balance Sheet of Maya

Ltd.




Particulars 31st March, 2023 | 31st March, 2022
() ()
| EQUITY AND LIABILITIES
1. Shareholders Funds 50,00,000 30,00,000
2. Non- Current Liabilities 30,00,000 10,00,000
3. Current Liabilities 20,00,000 10,00,000
Total 1,00,00,000 50,00,000
Il ASSETS
1. Non - Current Assets 70,00,000 30,00,000
2. Current Assets 30,00,000 20,00,000
Total 1,00,00,000 50,00,000

34. fEafy faavor & feu a1v 3newst 3R faRed IRy &, 31 AR, 2023 #F gATCT a¥ &

T IR O dAdd) Yarg' 3R A srfafafaat & Ad) yarg' v aromar |
31 #AI, 2023 de 32 fafAes & f&afyr faazor

faavor Alcd. |31.03.2023 31.03.2022
() ®)

| AT 3R cFam

1. RRYRT T AT

(a) THAT 3121 8,00,000 6,00,000

(b) T 3R 37eAT 1 2,00,000 50,000

2. IR-TTe] CTATT

ABEAICE IRy 2 4,00,000 3,00,000

3. TIAHECIAT

(a) SR &I 40,000 45,000

(EEEIBICER] 1,00,000 85,000

OEIREURERICICH 3 30,000 20,000
Sl 15,70.000 11.00,000

N-gREq T

1. IR-=re] waferar




e, T 31 30T 3R 319 Hafar
(i) {T Fafera

(ii) 31T |9 6,00,000 5,00,000
2. e[ HUTorAT — 50,000
(a) AT
(b) =T g 5,00,000 4,00,000
(c) Ahg IR Nhg THASET 4,00,000 90,000
70,000 60,000
el 15,70,000 11.00,000
grdl & sAled:
A . faavor 31.03.2023 | 31.03.2022
) ()
1 Ty 3R Ay
3nferer 3raTa one - g1 fAawor &1 A 2,00,000 50,000
2 ArdeRTTas 34
10% FKOT9T 4,00,000 3,00,000
3 R I IR IELI G
F HT YT 30,000 20,000
4 T A
E= Rl R 8,00,000 6,50,000
G Aeugrd (2,00,000) (1,50,000)
6,00,000 5,00,000
s " B
ICIITS] 50,000
IaREd FTHRT

(1).  1,00,000, 10% o197 31.03.2023 &l ST fohT 7T |

(2). a¥ & SN X 40,000 Y T ST T |

(6)




From the figures given in the Balance Sheet and additional information, Calculate *
Cash Flow from Operating’ and ‘Cash Flow from Financing Activities’ for the

year ended 31st March ,2023

Balance Sheet of Asha Ltd as at 31st March, 2023

Particulars Note [ 31.03.2023 31.03.2022
No. (®) )

I- Equity and Liabilities

1. Shareholders' Funds

(a) Equity Share Capital 8,00,000 6,00,000

(b) Reserves and Surplus 1 2,00,000 50,000

2. Non-Current Liabilities

Long-term Borrowings 2 4,00,000 3,00,000

3. Current Liabilities

(a) Trade Payables 40,000 45,000

(b) Bank Overdraft 1,00,000 85,000

(c) Short-term Provision 3 30,000 20,000
Total 15,70,000 11,00,000

ll-Assets :

1. Non-Current Assets

Property, Plant and Equipments and

Intangible Assets

(i) Tangible Assets 6,00,000 5,00,000

(i) Intangible Assets 5 — 50,000

2, Current Assets

(a) Inventories 5,00,000 4,00,000

(b) Trade Receivables 4,00,000 90,000

(c) Cash and Cash Equivalents 70,000 60,000
Total 15,70,000 11,00,000

Notes to Accounts:




Note | Particulars 31.03.2023 | 31.03.2022
No. ®) ®)

1 Reserve and Surplus

Surplus ie. Balance in Statement of

Profit and Loss 2,00,000 50,000
2 Long-term Borrowings

10% Debentures 4,00,000 3,00,000
3 Short-term Provisions

Provision for tax 30,000 20,000
4 Tangible Assets

Machinery 8,00,000 6,50,000

Less : Accumulated Depreciation (2,00,000) (1,50,000)

6.00,000 5.00,000

5 Intangible Assets — 50,000
Goodwill

Additional Information :
(1). ¥1,00,000, 10% debentures were issued on 31.03.2023.

(2). Tax paid during the year % 40,000



